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ANTHROPOLOGY
PAPER—II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  Who has propounded “alliance theory” of kinship ?

(A) W.H.R. Rivers (B) R.N. Lowie
(C) Claude Levi Strauss (D) None of the above
2. A man after marriage stays in the residence of his wife’s parents there by forming a
residence called :
(A) Neolocal (B) Matrilocal
(C) Virilocal (D) Uxori local

3.  Which of the following statements is applicable to “barter” ?
(A) A form of exchange of goods of trading of one object or service for another
(B) A standard medium of exchange that has a mutually agreed upon value
(C) A medium of exchange restricted to the buying and selling of a single commodity
(D) None of the above

4. A shamanis a:
(A) Witch doctor (B) Ritual performer
(C) Priest (D) None of the above

5. The Nuer were studied by :

(A) Clifford Geertz (B) E. Evans Pritchard
(C) Rafeal Karsten (D) Victor Turner

6. A system referring to mating between close kin within prohibited limits is termed :
(A) Avoidance (B) Incest

(C) Consanguineal kinship (D) Agnatic kinship

7. Which of the following is a tribal state in India ?
(A) Sikkim (B) Manipur
(C) Nagaland (D) Uttarakhand
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8.  Political anthropologists tend to concentrate more on :
(A) The decision making process
(B) The nature of government
(C) Developing a political theory
(D) All of the above

9.  Which of the following constitutes the modern synthetic Theory of Evolution ?
(A) Mutation (B) Natural selection
(C) Genetic Drift (D) All of the above

10. Which of the following is not a Prosimian ?
(A) Loris (B) Marmosets
(C) Lemur (D) Galagos

11. The lemurs are now found :
(A) All over the world (B) In Madagascar
(C) In India (D) In South America

12. Who among the following is a Neo-Darwinian ?
(A) Wallace (B) Curier
(C) Huxley (D) Th. Dobzhansky

13.  Who among the following is a Neo-Lamarckian ?
(A) Tower (B) Linnaeus
(C) Cuirer (D) Malthus

14. ’Aegyptopithecus’ is the best known fossil primate of :
(A) Miocene (B) Pleistocene
(C) Oligocene (D) Palaeocene

15. An Australopithecine was first discovered by :
(A) Robert Broom (B) L.S.B. Leakey
(C) Raymod Dart (D) F. Clark Howell

16. Which one of the following is NOT a major racial group ?
(A) The Caucasoid (B) The Dravidian

(C) The mongoloid (D) The Negroid
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17.

18.

19.

20.

21.

22.

The word “Food producing revolution” was first used by ?
(A) Julian. H Steward (B) Raymond Allchin
(C) V. Gordon Childe (D) Lewis. R. Binford

Which one of the following is not an absolute method of dating ?
(A) Radiocarbon dating

(B) Potassium-Argon dating

(C) Aminoacid racemization dating

(

D) Stratigraphy

“Choukoutien” is an important archaeological site in :
(A) Israel (B) Nepal
(C) China (D) Myanmar

The Yale-Cambridge expedition to the Sohan region was led by :
(A) Sir Mortimer Wheeler

(B) H. De Terra and T.T. Paterson

(C) Sir John Marshall

(D) Stuart Piggot

Which one of the following pairs is correctly matched ?

(A) “Religion and Society among the Coorgs of South India” is authored by
M.N. Srinivas

(B) “Races and Cultures of India” is authored by L.P. Vidyarthi
(C) “Society in India” is authored by Kathleen Gough
(D) “India’s is Changing Villages” is authored by D.N. Majumdar

Which of the following pairs is not correctly matched ?

A) “Geneological method” was developed by W.H.R Rivers

(

(B) “Cross-cultural comparison” was made use of by G.P. Murdock

(C) “Participant observation” was first put into effect by Bronislaw Malinowski
(

D) “Extended case studies” were made use of by Edmund Leach
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23.

24.

25.

26.

Given below are two statements. One is labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : A simple society lacks in a full scale political system.

Reason (R) : The members of a simple society do not have any political function.
In the context of the above statements which of the following is correct

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but (R) may not be an explanation.

(C) (A) true but (R) false.

(D) (A) false but (R) true.

Given below are two statements. One is labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Genetic counselling helps in preventing genetic disorder.

Reason (R) : Prevention of genetic disorders promotes the well being of the society
In the context of the above statements which of the following is correct?

(A) Both (A) and (R) true.

(B) Both (A) and (R) true, but (R) is not an explanation.

(C) Both (A) and (R) false.

(D) (A) true, (R) false.

Given below are two statements. One is labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Hemophilia is a sex-linked disorder.

Reason (R) : Hemophilia is caused because of the mutation in the gene responsible
for clotting of blood.

In the context of the above statements, which of the following is correct ?
(A) (A) true, but (R) false.

(B) Both (A) and (R) true, but (R) is not the correct explanation.

(C) Both (A) and (R) are false.

(D) (A) false, but (R) true.

Given below are two statements. One is labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : Race is a biological concept.

Reason (R) : Only biological factors contribute to the formation of races.
In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true

(B) (A) true but (R) false

(C) Both (A) and (R) are true, but (R) is not an explanation

(D) (A) false, but (R) true
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27.

28.

29.

30.

31.

Given below are two statements. One is labelled as Assertion (A) other as Reason (R) :

Assertion (A) : Early men took shelter in the caves to protect themselves from wild
animals

Reason (R) : Their cave habitat led to the emergence of cave art.

In the context of the above statements, which of the following is correct?
(A) (A) true but (R) false.

(B) (A) false but (R) true.

(C) Both (A) and (R) true, but (R) is not an explanation.

(D) Both (A) and (R) false.

Following is a list of four socio-cultural evolutionists. Arrange them in the order they
have made their contributions. Use the code given below :

(i) L.H. Morgan (i) Herbert spencer
(iii) Turgot (iv) Julian steward
Code :

(A) (i), (@), (i), (iv) (B)  (iid), (i), (i), (iv)
(C) (i), (i), (i), (iv) (D) (i), (iid), (iv), (i)

Following is the list of books, Arrange them in the order they have appeared. Use the
code given below :

(i)  Argonauts of Western Pacific
(i) Ancient Law

(iii) The Savage Mind

(iv) Coming of Age in Samoa

Code:
(A) (iiD), (i1), (i), (iv) (B) (i), (1), (iv), (iii)
(C) (i), (iv), (i), (iii) (D) (i), (iii), (ii), (i)

Arrange the following cultural Anthropologists in the order in which they have made
their appearance. Use the code given below :

(i) Ruth Benedict (ii) Franz. Boas
(iii) Clifford Geertz (iv) Julian steward
Code:

(A) (i), (iv), (i), (i) (B) (i), (@), (iv), (iii)
(C©) (), (ii), (iv), (iii) (D) (), (i), (iii), (iv)

Which is the correct sequence of the following in terms of the year in which the first
fossil was discovered :

(A) Australopithecus - Pithecanthropus - Ramapithecus - Neanderthal
(B) Neanderthal - Pithecanthropus - Aukstralopithecus - Ramapithecus
(C) Ramapithecus - Australopithecus - Pithecanthropus - Neanderthal
(D) Neanderthal - Pithecanthropus - Ramapithecus - Australopithecus
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32. Arrange the following discoveries in the order in which they appeared. Use the code
given below :

(i) DNA structure (i) Mendels” Laws

(iii) First gene therapy in humans (iv) DNA Finger printing
Code:

(A) (@), (i), (iv), (i) (B) (i), (i), (i), (iv)

(€ (i), @), (v), (i) (D) (i), (i), (@), (iv)

33. Arrange the following tools in the order in which they were first used by the prehistoric
man. Use the code given below :

(i)  Microliths (i) Pebble Tools

(iii) Celts (iv) Iron tools

Code :

(A) (), (ii), (iii), (iv) (B) (i), (i), (iii), (iv)
(C) (@), (i), (iv), (iii) (D) (i), (iv), (@), (i)

34. Identify the correct sequence :
(A) Metaphase - Prophase - Anaphase - Telophase
(B) Anaphase - Telophase - Prophase - Metaphase
(C) Prophase - Metaphase - Anaphase - Telophase
(D) Telophase - Metaphase - Anaphase - Prophase

35. Match the following :

List-1 List-11
(Names of communities) (Names of Anthropologists)
(a) The Tikopian (i)  Bronislaw Malinowski
(b) The Toda (i) Raymond Firth
(c) The Trobriander (iii) E.E. Evans Pritchard
(d) The Nuer (iv) W.H.R. Rivers
Code

(@ B (o) (@)

(A) @ (v) (D) (i)
(B) @) (i) (v) (D)

(©) @) @) @ ()
(D) @) (Gv) @ (i)

D—0706 12
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- 1 et - 11
( TGETT ¥ TT) ( I 3 1)
(a) < femifem () fTeame afeaent
(b) TS (i) YHewd
() T IfT= (iii) 33 s B
(d) TR (iv) S ua.eR fad

&

(@ ) () (@)
(A) @  (Gv) (@i (D)
(B) () () @Gv) (@)
(©) () @) @G )
(D) @) Gv) @) (3D
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36. Match the following :

List-1 List-11
(Social formation) (Type of grouping)
(a) Family (i) Kin group
(b) Lineage (i)  Dual division
(c) Moiety (iii) Non Kin group
(d) Association (iv) Domestic group
Code
(a) b) () (@)
A) @@ @) (>Gv) (i)
®) (@) ) @) Gv)
(©) (v) (@) @) (1)
(D) (v) () @) (i)
37. Match the following :
List-1 List-11
(Fossils) (Region)
(a) Australopithecus Afarensis (i) South Africa
(b)  Australopithecus Anamensis (ii) Ethiopia
(c)  Australopithecus Robustus (iii) Tanzania
(d) Australopithecus Gahri (iv) Kenya
Code :
(@ (b)) () (@)
(A) @@ @) (>Gv) (i)
(B) () (Gv) (@G) (@)
(©) (Gv) @) @) (3D
(D) (Gv) () @) ()
38. Match the following :
List-1 List-11
(Tools) (Period)
(a) Hand axes (i)  Mesolithic Period
(b) Pottery (ii) Palaeolithic Period
(c) Microliths (iii) Iron age
(d) Megaliths (iv) Neolithic period
Code :

(@ @B (o (@)

(A) (v) @) @ (i)
(B) (@) (1) G) (@)
(©) (G Gv) @ (i)
(D) ) G @iD) (@)
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36.

37.

38.

fay o

frrfafad = fyamse :
e - 1

( QrHTfTes =T )

(a) TUfER (Hfafa)

(b) SR (AfTTH)

(c) ok (W)

(d) FaY (TETTISHE)

&

(@ ®) (o) (@@
(A) (@) @) (@v) (i)
B) @O @) @ ()
(©) (Gv) @) () @)
(D) (Gv) @) @) (i)
freAfafaa &1 faamsy -

gt -1

( SiaryT )

(a) SARIANIIRY ThEHAHH
(b) AR AMATET
(c) STafIsy Jaed
(d) STEAINISRY MRl

¢

(@ () () (@)
(A) @@ @) (Gv) (3ib)
(B) (Gi) @(v) (@) ()
C©) (Gv) @) (@) ()
(D) (Gv) (1) @) (i)

fay o

frfafad = fyamse :
et - 1
( 3fY)
(a) 1w Feorel (T TH)
(b) HgHIUE (died)
(c) HeHSiTened (HIEhifdae)

(d) TRRH (Hmfeer)

(@ ® () (@
(A) (v) @) @@ (i)
(B) (i) (@) @) (i)
() (i) (v) @ (i)
(D) @) @) (i) (v)

e - 11
( FMHTOT GHT)
() TErR e (fF 79)
(i) 5a faveH (o fefasm)
(iii) TATER & (AW foFA )
(iv) uRarfes = (SMfes gu)

11
(&)

(i)  <f&ror SAmIe

(i) s

(i) dS

(iv) &=

( @#TeT)

()  HEAYTETOT T

(i)  RATSTOT

(i) & I

(iv) Terarsror I (Fenfaree)

15
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39. Match the following :

List-1 List-11
(Scientific inventions) (Scientists)
(a) D N A Finger Printing (i) C. Mullis
(b) Inborn Errors of metabolism (i) Francis Galton
(c) Polymerase chain Reaction (PCR) (iii) Alec Jeffery
(d) Eugenics (iv) Sir Archibald Garrod
Code :

(@) (b) (o) (d)

(A) (v) @) @3) @)
(B) () (v) (1) (@)
© @) @) @G @Gv)
(D) (@) Gv) (@) (i)
40. Match the following :
List-I List-11
(Syndromes) (Cause)
(a) Down’s Syndrome (i)  Trisomy 13
(b) Edward’s Syndrome (i) XXY
(c) Patau’s Syndrome (iii) Trisomy 21
(d) Klinefelter Syndrome (iv) Trisomy 18
Code :
(@ () () (@@
(A) (D) (@v) @) (@)
(B) (v) (i) @) ()
(©) () (Gv) (@G (@)
(D) @) @) (>v) (i)
41. Match the following :
List-1 List-11
(Chromosomal aberration) (Cause)
(a) Deletion (i)  Segment of chromosome reversed
(b)  Duplication (ii) Part of chromosome missing
(c) Inversion (iii) Part of chromosome present twice
(d) Translocation (iv) Two chromosome exchange parts
Code :
(@ B (o (@
(A) @@ @) 3 (Gv)
B) @@ @ (>v) (i)
© (@) @) @G @Gv)
(D) (v) (@) (1) (@)
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fay

o

39. frAfafaa = fyeme :

e - 1
( Tl SIfTHTT)
(a) ST AR e
(b) rEITerSH i S Ffear
(c) TUiferHys = RusyH (H.H.3R)
(d) T
¢

(@) b) () (@)
(A) (v) @) @) (i)
(B) (i) @Gv) @) (@)
(C©) (@) @) @G @)

gt - 11

( 717 )

() . gfew

(i) IfE" Meed
(iii) oTeTh WY

(iv) W effdarees e

(D) @ (v) (i) (i)

o o

40. frafafaa = fyemse .

qza?-- I -1II
(fagica ) ( HRT)
(a) o9 fa<m () Trat 13
(b) Ueared fasm (i) TSH.TSE.9E.
(c) TRY fasm (i) FrEEt 21
(d) Tohe fagm (iv) Trart 18

(@ ® () (@
(A) (i) (@v) @) ()
(B) (v) (i) (i) ()
(C) (i) (@v) (@) (i)
(D) @) @@ (@v) (i)

41. frafafaa = fyemse .

e -1 e - 11
( FIAET qasit faaerT (&) ) ( FIOT)
(a) Taaim= (feaiem) (i) HHENIEE ®1 A9 Taafaa (Rae)
(b) T (gferehem) (i) SHHESIE 1 3T T (BN 91 HiET)
(c) HAfAEFA (TAaSH) (iii) SHIHSINE % 379 H @R Surkfa
(d) Teafqefao (TEeishym) (iv) T HESHE A A w1 faf e (e ow
EH)

¢

(@) b) () (@)
(A) (@) () (i) (@)
(B) () (@) (v) (i)
©) () (i) @ (@)
(D) (@v) (i) @) (@)
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42.

43.

44.

45.

Which one of the following statements is true ?

(A) Factor VIII promotes blood clotting treatment in Hemophilia
(B) Insulin lowers blood pressure

(C) Pitutarin promotes urination

(D) Adrenalin increases growth

Which one of the following statements is false ?

(A) Super-organic is a term associated with A.L. Kroeber

(B) The theory of structuralism was proposed by Claude Levi-Strauss

(C) The theory of multilinear Evolution was propounded by Julian Steward
(D) The concept of cultural materialism was developed by Ralph Linton

Which one of the following statement is false ?
(A) Amniocentesis is a method of prenatal diagnosis

(B) Adenosine Diaminase deficiency syndrome (ADA) was the first genetic disease
to be cured by Gene therapy

(C) Thalassimia is a disorder of hemoglobin synthesis

(D) Galactosemia is a disorder of amino acid metabolism

Which one of the following statements is false ?
(A) Man is a terrestrial quadruped

(B) Apes are arboreal brachiators

(C) Fishes are aquatic

(D) Aves are mostly arial

Read the passage below and answer the questions that follow based on your under
standing of the passage .

Anthropologists are increasingly concerned about the rapid disappearance of
the world’s remaining indigenous peoples for a number of reasons, foremost among
them the basic issue of human rights. The world today is rushing to develop those parts
of the planet Earth that have so far escaped industrialization, or the extraction of

resources regarded as vital to the well-being of “developed” economics.

Unfortunately, the rights of native peoples generally have not been incorporated
into the programs and concerns of these organizations, even where laws exist that are

supposed to protect the rights of such peoples.

For example, the typical pattern for development of Brazil’'s Amazon basin has
been for the government to build roads, along which it settles poor people from other
parts of the county. This brings them into conflict with Indians already living there,

D—0706 18



42.

43.

44.

45.

T ferg FeAl § % 9 YT 91§ 2

(A) e VIII HIRIfera B T st Selfer i e ¢ |
(B) 3gfe ¥ =Y A 2 W ¥ |

(C) Tregeda @ Yeme SRy ST € |

(D) U § YRR 1 faepmd e B

o feu U FHoA § Tord S WY ?

(A) g ATH 5T TLUA. HER F Y I 7|

(B) HEHER #1 fagid Saiie oial-Srd gl JHTfea foham = o |

(C) =@ (Aedaier) foaem 1 fagia Sfaem ware gr afaurfed foan T o)
(D) wepfa «difaes i deheu e fofeT grr fomfaa 1 2 off |

Trefafad | 9 i YT Tl © 2
(A) THHAIMG=ag Fiiea sefad +i T fafy § |

ﬁﬁﬁﬁﬁ

(B) TSI ST SfRfaed fagm (TE.T,) Tgelt SHfesh smi of foa e ot 9

3 Towan T
(C) Ieuifaa fedreley & fHafag +1 Teae! @ e |

(D) TSI TN S Heriasd & Teaet ¢ |

9 feu el o ®F =1 Y Tod € 2
(A) T U S § |

(B) a=gaf (sferaeH) 2d 7
(C) HSei-efid gt § 1

(D) T&ft YTI: F9HSAT B § |

e fora TEmIT Wi Uleq SR 3T U SR FF1 & ST T |

ArafaRH fava #1 o=t g8 enfeardt Sfaat & g @ o< & 9 ¥ see fdfad §)
foas 2 wRw € 3R ST IHE FROT § gEueR Geet g3 | fova o gest & < 9w a6
SATTTRTOT % T ], ST 27eft qek STTenfieheor @ o gu € A1 gealt o 3 Wi % Gl 7 e
FI @ T S fasrfaa ord 91’ F S & oTid SATavIsE A W € |

U 9 srfeanfadl & ifusi, FEHHl 3R 3% TIHN & 39 TSl § e &l
foren T ¥ el oft STl U@ A Aie & FE 5 A Rl Y w0 w1 whd off |
ISTERONY, ST AL T S H TRR A WS o1 o § TRl <9 o G W @ TS A Rl ST
e &1 <o 9l & qot framt sfreami & 37 go San & St 73 fomenfudi % wush o e
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46.

who begin to die off in large numbers from diseases contracted from the new settlers.
Before long, the neo-Brazilian settlers learn that the soils are not suited for their kind of
farming; meanwhile, outside logging, mining, and agribusiness interests exert pressure
to get them off the land. Ultimately the neo-Brazilians wind up living in disease-ridden
slums, while the Indians are decimated by the diseases and violence unleashed upon
them by the outsiders. Those who survive are usually relocated to places where resources

are inadequate to support them.

In an attempt do what they can to help indigenous peoples gain title to their
lands and avoid exploitation by outsiders, anthropologists in various countries have
formed advocacy groups. The major one in the United States is Cultural Survival, Inc.,
based in Cambridge, Massachusetts. This organization’s interest is not in preserving
indigenous cultures in some sort of romantic, pristine condition, so that they will be
there to study or to serve as “living museum exhibits,” as it were. Rather, it is to provide
the information and support to help endangered groups to assess their situation, maintain
or even strengthen their sense of self, and adapt to the changing circumstances. It does
not regard assimilation of these groups into the mainstream societies of states as
necessarily desirable; rather, they should be allowed the freedom to make their own
decisions about how they wish to live. Instead of designing projects and then imposing
them on endangered societies, Cultural Survival prefers to respond to the requests and
desires of groups that see a problem and the need to address it. Cultural Survival can
suggest ways to help and can activate extensive networks of anthropologists, of other
indigenous peoples who already have faced similar problems, and of those government

officials whose support can be critical to success.

Most Cultural Survival project funds or assists have been focused on securing
the land rights of indigenous peoples and organizing native federations. It has also
identified and funded a number of locally designed experiments in sustainable

development.

Of major importance was the success of Cultural Survival in getting the World
Bank in 1982, to adopt the policy that the rights and autonomy of tribal peoples and

minorities be guaranteed in any project in which the bank is involved.

Which one of the following remains actively involved with the issue of human rights of
indigenous people ?

(A) The Government Agency

(B) Religious groups

(C) The United Nations Commission on Human Rights
(

D) Social workers
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46.

3TE TaTe SR 9SS W § 7 @ €| 9gd Sieal 3 799 ssitaad foeenfud w1 7
STET BT ¢ T Tl &1 o STh! 3TN i Wt % A &l ], 3@ S STl Bl B, WA,
3TR F% =eEr F1 TAE 3% TWH BISH T T STHH SIS FX AW Fl 9187 FH1 ¢ | 3fda: T
FTSeardt S | T gl Bies e 9d ¢ IR SfUea amel 9§ 3T an 9§ el siant qen
3Tt e & R @ 91 E1 S o S 3% ARl S S § SR sten Ard & fore gara
HH1ET TR 2 |

FE <N & Tra A 3 39 ot T St WA 9o feam % fern qen st
e & fw g0 (TSarhdt) o oM™ €1 30 § 9ol 921 § HYed 169 STHTERT Hithiah
AR 8 1 (F.TH.Foaid TaEdd) hissl HAr=Hed 31 WSl &l 3e¥d Ul A h
qepfa B T9m w1 3T TH J"ifew qA1 A F fO¥rs €U F GHRE WA gU S Sfad
HURIerd § YeuH St T & &9 WAl T o1 | dfesh ST 32T o1 39 faed 2id o o SR H
A1 UGH T, q1 3T Fearfa 1 Feior o6t 37 Tocd & W19 il gg@ il 9 o1 W1 qel
Ige g uRfeufd % eTIEd e | Herdl & T

T 31 T B! GHIS i GoF o B faea 61 etferd w9 @ Fifed T arar afcs 5% 78
STTET B =TTeT foh & 9 St T =ed 1 9 = ol w8 9o 3E e TR 3 fon
qfESH § 918 S SR R 3% foqe g |l I o191 S 9ishfae i, 9 aff
STTASA A 2131l T HergHfayul SoR < ! TTeifiend] < &, HIhide A sTfears / axdt
T I TR % Tk R Hhdl € SR WA o Hedeh Sl AhHa T Tohdl © a0l T8
STfeaTEt/ ekt T 1 T X Tohal § FT2 36 TR 1 THEST 1 qehreen fhan § aen
3 G HHAA & off Tk IR Fohal © FSTTh! TerEd ThHad o fau STdd Aeequl |

TRty Wiwpfas st afEs ffa o1 Femar snfcardt gfagsi =i gfa-sifaewr
feet iR enfeamdt T o1 9fed & | Shfgd 81 8, S99 LI TR W FoiidTe e faehm
Gaeft g o ferT om e fon 2

T Hispfae fa@ & SeEd 9eayu ghadl § 91 1982 H fova d gw Fifa
Hee gEard Wa e fSeeh 3Tl Sd & <l ol T Teqd<dehl i S & g qivd
IR § 370! TSI 3R 37 TR e W S |

Frofafaa (Feenst) ® @ FIF T/ g & AHEaTfsrl 8 St auenet 8 g § Hed
g7

(A) TN ATTHW

(B) enfHer =i

(C) HYsd TP §H T HHATHERR HHIYM

(D) wmEIfSIe wrfeha
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47.

48.

49.

50.

Which one of the following statements is false ?

(A) There is intervention in the life of indigenous peoples

(B) Indigenous peoples are not properly protected by the Government
(C) Indigenous peoples are not happy in their traditional social setting
(

D) There is threat to the indigenous culture

Which one of the following is not correct ?

(A) Indigenous peoples are not exploited by the aliens

(B) Indigenous peoples are not deprived of their rights over native resources
(C) Indigenous peoples come last in the priority list of the Government
(

D) All the problems of indigenous peoples are taken care of by various agencies

Which one of the following helps to maintain the well-being of indigenous people ?
(A) Religious organizations

(B) Private enterprises

(C) Non-governmental organizations

(

D) Money - lenders

The focus on protection and promotion of indigenous culture is the result of :
(A) Deriving political mileage

(B) A genuine concern about cultural survival of the indigenous peoples
(C) Religious conversion
(

D) Human welfare

-00o0-
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47.

48.

49.

50.

i for@ el § | o AR 2

(A) TR/ HAMEE % Siee | ol gsad 2 |

(B) R 5N HeAfTantaal s Sfaa weemn =& fean mn 2
(C) efeamEt TN 79 THOTd JH & S | ST e §
(D) eTfeanfaal &1 T&hid 1 @ 2|

frifafad & i 1 F9F o 82

(A)  smfeardt < 1 iR enfeenfast g s =& 8 wi gl

(B) oTfeaTdl <Rl =l S97eh 19+ HaTeHl & dfad &l fohan <1 @1 2|

(C) TR i WfHehareti i g=t ¥ nfeamt 3fq § o1d ¥ |

(D) eTfeamt / Snfae o <Al ohi FEENeT &1 g He AR (To=HeT) Fd |

fearEl M o shedmul & fau frsafafgd # 9 w1 &d w1 2
(A)  enfer gTad (B) Freft =aEm
(C) TR IR G (D) ¥ Y WA A1t Ig 5

ST/ STTCATE @RT i HEhid o TET0 d Ie(d o a7 haeh (Hwd) FHeAfaraa 1 aiomd
g

(A) TsTfaes @y wiftd & R

(B) oTfeantaal st WERid Sl s= &I arardeh fadl

(

(

C) emfaX
D) HFE HeAml
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Space For Rough Work



